CS(M) ExaAM2012
G-DTN-M-CPEA

BODO
Paper—I

{ Literature )

Time Allowed : Three Hours Maximum Marks : 300

INSTRUCTIONS

Candidates should attempt Question Nos. 1 and 5
which are compulsory, and any THREE of the
remaining questions, selecting at least
ONE question from each Section.

The number of marks carried by each question is
indicated at the end of the question.

Answers must be written in Bodo.

Important Note

Whenever a question is being attempted, all its
parts/sub-parts must be attempted contiguously. This
means that before moving on to the next question to
be attempted, candidates must finish attempting all
parts/sub-parts of the previous question attempted.
This is to be strictly followed.

Pages left blank in the answer-book are to be clearly
struck out in ink. Any answers that follow pages left
blank may not be given credit.
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Section—A

1. TERE gE Eigwi {5 @ (150 WEEe)
12x5=60

(%) =0 vafy Semtafodh RfEmA aral = a0
AREAE FEETEA g o 12
(@) fem w? = vsfy 7 T fewwd sEen
T fefer 5+7=12
(M = uafy snde FemEmAe atEmrE ot 12
(@) = ER dEe g e gEerl
(Sister languages) fargmfs @ for 12
() 1963 wawsh i o geat fae amam w

o1 @ argremE for 12
2. wemft AigEE 250 "W 20x3=60
(%) epma Wl Wl USHIeR & W AEHE W Al
TSI a areE s o 20
(@) W TEl g qEEen Ta? F Tawie TEhiE
argrnt AT e 5+15=20

(M) enfrgrema = AT e emefarE g fer 20

3. TEEl diqErEt 250 dREE 5 20x3=60
(%) = @@ ey gL (Tone) o, fafefr e
fafse fer 20
(@) WEfs SeEEE WP AEieT AR AEed
grmawrt fafEfEr am fax 5+15=20

(M wEEn W7 adE mER 8§ 'EtEE w0
wTTE e s fafefE dmn fon 5+15=20
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' 4, TEEl digEeEl 400 WEEST T 30%2=60

(%) dEE TifEm w? W TEE g4 R aa
AaEE qrared s akEr ol gh e
10+20=30
(@) WEmE wdE (Word order) mr? & T
FaEE § A qEred 9w o SR
BT T 30

Section—B

5. @ dieErd 150 REs 5 12x5=60

(F) o =P 717 gy YFensE) WS STEm T
g R’ 5+7=12

(@) = TER TNm we (Myth)-®RA @mEe
el 12

(m) T W@y TFE gEeReRE A
s fewy 12

(w) fo=m fifs (Pre-Bibar) gmamE a1 a1 & el
i SEEE S0 AEerEiE 7 WmEE? 5+7=12

(&) =TT UsEEEAE TYRRE gAaEi wEE

fafomems = 12
6. TREM HgwRE! 250 dEEs 6 20%3=60
(%) ¢ TEH weEEERR gwEE e e 20

(rg) faaw gm fren safah gua ffmm JmE 3
gy Tl forfiffy yremsf e gEua)
5+15=20
() MeW  gufy  TMEW  gAwEAEERRE e
HETHAE B 20
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7. MEEf e 250 wREs i 20%3=60
(F) 9w gmEE el SEE w @emEer

e Y wErREE S o 20

(@) TEF OEEE Jafg-sa 29 el @
fafomem € 10+10=20

(M) Fewme g T oh A gz we faeef
TRty @ fafswam g 20
8. TEEH HGERE! 400 WS i 30%2=60

(F) = TEE 9 HEAETE g FERH g
s for 30

(@) "= 7R fem o wsns el gwE
fafsmam 30

* % W
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